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Is it insufficient if he is not 95 — B3 IR INDT 30 NP

OVERVIEW

The X mx explains the reason why the 9mn does not say 'm%', because the
connotation of 9% is that it is the obligation of the 772n to perform this mxn.
However the 27 is not obligated to perform this 7%°n; the obligation is on the
father. Therefore the 7 cannot say 7117 (but rather 72°n:1 7).
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For the obligation of performing a 77> n°72 on a child rests on the father as ''w=

explained.
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However one who is ¥» converts makes the 17972 of 2"377 nR »1mb, for he who

makes the ;7272 is obligated to be 2 this 73, just as the father who is %% makes the
11972 of 917 since he is obligated to be 9 his son.

SUMMARY
A 5mn is 7970 9y T7an, a father and one who is 073 9 say 21n°.

THINKING IT OVER
How can moown compare 0°737 DX 71 (where there is no personal obligation) to 2X
o1 (where there is a personal obligation)?!

' The reason the > should not say 1% is not so much that he is not personally obligated to perform the 72» (for
indeed he and all of X w> 593 are obligated to see that this child has a 7% n°12), but rather because there is a
primary personal obligation on the father which takes precedence over the general obligation that rests on 2XWw> 995.
See following footnote # 4.
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3 See 2,9p naw. Our text there reads: "1 D37 NX 9199 1"2pX IR TI2M 7977 9 1"2pR 1) TIN2 IR 037 IR 907
™27 1710 °"R2. See however 1"'°771"5 NM572 XNHOIN (and WX NOT°A in NAw 'on).

* There may not be a personal obligation to be » this 73, however there is a general obligation on X" 993 to be 1
this 73, and since there is no primary personal obligation on any specific individual to be 9 the 23 (as there is by a
child), the general obligation which is on 78w 995 is sufficient to warrant the 7372 of 07 NX 7M%. See previous
footnote # 1. See “Thinking it over’.
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